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For Single Track Embankment.

? Ans. from Table 30.6.
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FEUGENE DIETZGEN CO.
DRAWING MATERIALS, MATHEMATICAL and

Roadway 16 feet wide.

stake

Distances from Center of Roadway for Cross-Sectioning
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Example—If point

$o be a slo;

<

80.6 =32.6. For slopes

of roadbed, correct
example above, for
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DISTANCES FROM CENTER OF ROADWAY FOR 7 * ° "
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CROSS-SECTIONING.
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Roadway 16 feet wide.

Side Slopes 1 on 134.

For Single Track Embankment.
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opes but other widths of

1

of roadbed

16)+2 or 2 ft. added to 41.9 =43.9,

gures by one-half difference in width

int is 22.6 ft. above grade, howfar should it be from center line to
t? Ans, from Table 41.9. For same sl
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above for 20 ft. roadbed distance will be 41.9-+4 (20—
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For slopes of 1 on 1 see inside of front cover.
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